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DLIECS
PRE FINAL ASSESSMENT EXAMINATION, 2023-24
Sub : Social Science
Class : X

Full Marks : 90

The figures in the margin indicate full marks for the question.
SECTION - A

(1 to 45 question carries i mark each) (> #91 8¢ {5 2SI 2] T Y)
What was the primary motive behind the partition of Bengal in 1905?
1905 571 esfesi salize Trwel & ifes
(a) Administrative efficiency (IR TF0!)

(b) Economic development (S Taz=1)
(c) Cultural preservation (3¢ )

&7 Religious and political divide (45 oi% qreiies Remwm)
Identify the correct option that describes the act given below:
U Avow weo Al I wWiklee % oG BAre i
# The Act was initiated by Lord Chelmsford who appointed a
commutiee to investigate the revolutionary actvifies.

TE TN TS (RARTISS 7P ors [k SrEeen=[{ [{@w
AT IFRACA QYT WIS e Sare HAifke e |
(ii) It empowered the government to detain political prisoners
without tmal.
TE TWEALH CEEOT IV EEE  GAIAEIE PR AT
<Rt peoRe Hfaa™ ome SiEfRE |
(a) Rawlatt Act (J16=116 ®ZA)  (b) Ceiling Act (bfeiz =i3w)
(c) Indian Penal Code (®R®E wafdfy ssfze=l)
(d) Governrnent of India Act (SIS BRI 2
How did Gandhi’s concept of satyagraha differ from conventional
form of protest?
AER HNTR QG ToRsied =feame «@1 E sjus wfeEe
(a) Emphasised revenge (2043 e«@9 azyg frar)
(b) Focuser) on marrial gains (%3 e~ S oy fFar)
(c) Advoc:tes for spritual and moral gains

(TEGRE WF @ AR ARTS F4q) PTO.

https://www.assamboard.com

-2
(d) Promoted reliance on legal avenue
(SIIE JAYR S Moo aAfEs 1)
4. To probe which one of the following incidents a committee was
appointed under Lord Hunter?
7Y QYORE (TS TAS TA (A WOAR SFPTRN FAI
wical 1 e
auri Chaura massacre ( GfR-CG131 IHI/G)
(b) Jallianwala Bagh massacre (SIfFaFRISRIT TINIFNS)
(c) Patharughat massacre (A4S THII@)
Phulaguri dhawa massacre (FH¢f (@l 2rFTe)
~"A branch of economic geography is (SIf¥% QLaIRR <51 =i ToN)
(a) Physical geography (2$f&S GLAIET) '
{b) Human geography (I3 Yz‘C‘ﬂWf)‘\/
() Library geography (2IgI7 RIoT)
(d)-Transport geography (*{fR3% gLo=1)
~ The school where you read can be grouped into the resource
TR w7 Reme & o @ifis 2|
(a) Individual (JF&S) National (SSH)
(c) International (SH@ST) (d) Localised (%)
7. Which one of the following oceanic island is a part of Pacific ocean?
ToTs Rl (OO SUES Tl EIRE RIS SrHe(S ¢
(a) Sri Lanka (R=7%) (b) Maldives (A1)
(c) Taiwan (GIZaF) (d) Madagaskar (SWISIFFR)
8. The tribe recognised as plain tribe is
VST TSI A TP SISO Mﬁ? R
(a) Hazong (JN) Tiwa (f&an)
(¢) Dimasa Kachari (foar® #%90) (d) Zeme Naga ik )
9. ‘Basudhaiba Kutumbakam’ is the theme of India's G-20
presidency it is inspired from
PR FLIIW SHTA WSS THPE RA G-20 AT
[T =1 4% AN @ 2R #_ @R TR
(a) Dashopanishad weeimRER)  (b) Mohopanishad-(‘ﬂmﬂm

https://iwww.assamboard.com
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11.

12.

-3

Mundak Upanishad (393 #fia4) (d) Ramayan (ITIIW'I)Y

Identify the image from the options given below

TS il REewnza o1 ftars Bare bl

(a) Stilt house (5ITE) .

(b) Talatal ghar ($e11e# Q)

(c) Rang ghar (W) :

(d) Sui Ka Pha museum (F31®! FiRalIze)

Assertion (A) Because of human resource development, despite

scarcity of many natural resources, Japan is considered to be

well developed country.

Reason (R) People of Japan have adequate skill, education,

technology and desire.

IGY (A) 3 ARPET oM TSRCS!, TP TS PPy

A T +fITT @ yftieq) or Boest sif4nifie tzre)

R (R) & WA TR i 3w, fem oS wie stz )

(a) A is true but R is false (A & 5g R Stog)

(b) A is false but R is true (A S0G g R )

(c) Both A and R are true and R is the correct explaination of A
A SI% R TG 8% W% R 25 A ¥ o [{ogas |

(d) Both A and R are true and R is not the correct explaination of A
A 1% R T30 9% WE R, A I 9% [oeEd 9290

Assertion (A) : The British brought the tribal people of Chotanagpur

plateau to work in the tea garden of Assam.

Reason (R) : Local people of Assam did not show their interest
to work in tea cultivation.

TG (A) ¢ RibwmE GhaneR Trefl Swer sHafsTens

51 R 261t SeTitat S |

@1 (R) & ToTR I @I BIRUoS am st wed) sifir)

(a) A is true but R is false (A o% &% R wog)

(®) A is false but R is true (A STo% &g R o)

(c) Both A and R are true and R is the correct explaination of A
A T R 70! 9% W% R 25 A ¥ o% Road |

PT.O.
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,_fayRice (¥F)

P
(«d) Both A and R are true but R is not the correct explaintion of A
A I% R RG] o% SIF R, A I 9% Q09 727 |

13. Arrange the landforms found in the oceans in the sequencing

from low to high in depth.

o offte (o RS SRIREE I ST 71 @fx TSl
T S ACERI

(i) Continental shelf (¥2)G1%=) (ii) Continental slope (¥ZI6i=1)
(iii) Deepoceanic floor (srSR Fgwe) (iv) Continental trench (g 419)
(@) i i, iii, iv (D) 1, i, iv, i () i, iil, iL, iv  (d) i, iid, iv, i

14. “A narrow and enlongated sea was formed due to fraction almost

in the middle of the Pangaea ” This fact is a part of the theory called —
“cofgmR A e w5 (I Wbt W W Aee AR

3 ” g% GoAIG! (P AR S—
ig Bang (Rt @e) (b) Relativity (SoireRm)

(c) Oceanic drift (SIS [ZI#F)
(d) Continental drift (71 Reg1=iv)

15. The reason for rapid growth rate of population of Assam during

the post independence period is
TSR Pl TR ST STy e 29 SEieiiieei
Blig PR ==
apid increase in birth rate (579 2% &© Jfa)

(b) Rapid decrease in death rate (79 TR T© )
(c) Unabeted flow of migrants from other states

) AT 2 SR AN TS (TR SRAISH |
(d) Unabated flow of migrants from Bangladesh

FIEACHR #[¥] SN QY sifeS (Rl S |

16. Which of the following cash crop is used in agro based industries

as a raw material?
TS Wil @R[y SLE=[ wy RIS Trmee @t wma)
Zee I7TS 2T/ ?

(b) Watermelon (SI%1)
(c) Sugar cane (FRIR) (d) Cauliflower (FFFR)

Contd..
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I7. The potential consequence of the melting of polar snows is- 22. Consider the statement A and B about the non banking financial
A AT ITTF TR TSR SRS I institutions (NBFls) and choose the cormrect answer

(a) Decreased sea level (sR=% IHR) W @D A& «fedrrmze fam ows frm A wis B g
(b) Increased sea level (vftarasy ) 551 Reeoan i % Tead! Ay Tfened 3
(€) Polar bears will get new habitation (1 ST gw aPFEH 24) A : NBF1 depositors can withdraw money through cheque.

(d) Sea foods become cheap and available (TR M FxTeTS; T7) W R {8 Afedrrze HerPRE IR TRETS T W
18. Acid rain generally occurs in the region

g Bfermr e
?ﬁolar (ﬁﬂ;m R 2?‘:.@ ﬁ(@) B: NBFIS have deposit insurance scheme te cover the risk of depositors
: orest (I v & AT I SpH WS
(¢) Industrial (3tH™%)  (d) Grassland () SRR [R@T Bz suwias

(@) A is true but B is false (A @& &% B W1@%)
(b) A is false but B is true (A %9% {8 B %)
ﬁﬁmmAWBmmaﬁgﬁmﬁmm (c) Both A and B are true (A W% B 96! oF)
(A) The condition created by four major inter connected spheres (d) Both A aer B are false (A W B D! @ﬁ) .
of the earth is called environment. 23. When the entire amount of capital for a public sector unit is not
sfeflr v IR WO AR=RE AT @ Ry TR supplied by the government but, a part of that is also collected
B txr O Al @ =T | from the private parties through sale of shares, it is called
(B) The environment is changing in terms of space and time, @AM @ AT 49T AfSHRT T JEE 5RIE @
(TR == 31 cow ~ifRra cifdasiie) A I wHHE [RER sfRars i 293 o[re g may
(a) A is true but B is false (A 9% 5% B =ag) 4| 7T, S (@[ 33
(®) A is false but B is true " (A W% 5% B ug) (a) Liberalisation (Sis/@4) (b) Disinvestment (=fdl~taia)
(€) Both A and B are true (A W% B qzain! o) (¢) Globalizations (RE¥)  (d) Digitalization (gfe3d)
(c) Both A and B are false (A =% B ! =ow) 24. What has speeded up the process of globalization?
20. Neutral stuffs are (Rfeerm Wﬁm’ﬁ ') far R o wide woen o[ :2_%(5?
(a) Internet (THIAGEH) (b) Facebook { (F53F)

19, Consider the statements A and B about the environment and
choose the correct answer

(a) Useful (ToaiSh) (b) Harmful (Sro/iT})

() Neither useful nor harmful (SR} S IR} GBra Zw)
(d) Sometimes useful, sometimes harmful
(TR Tormidt i TR

21. 10 rupee coin is an example of

10 5t stgyet bt Btz 2ot

(2) Hot money (w#® @) (b) Dear money (A5
(c) Legal tender money (Ri3w TaR) O

(d) Non legal tender money (SRR® y=7)

P.T.0.
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25.

(c) Geo-politics ($-IGHIS) (d) [mport-export (SrvifR-ae=))
A grocery shopkeeper in your neighborhood selling goods to his
customers. He is associated with which one of the following occupations?
(oI T @6 CTINET (RIS [fes wmf cromses
T =31 (o8 B R wvre wfow

(a) Primary (enefis) (b) Secondary (f&STas)

(c) Tertiary (TS1T) (d) Quaternary (594%)

Contd..
https://www.assamboard.com
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26. What was the key strategy employed by the protestors during

27.

28.

29.

30.

the swadeshi movement in Bengal?
RIS FOE TR A AfSaaiTIaetd 351 (Fhercst B w7
(a) Arm rebellion (3% Rrwrz)
(b) Boycott of foreign goous (R <y 3i)
(c) Diplomatic negotiation (F5iASS HCEB1)
(d) Migration to other non affected regions
(T Wil Tweeite] 2FeH)

What was the main objective of the muslim league at the time of
its establishment?

dfisdr TS Jaform w7 Trwey [ emfzet

(a) Social reforms (IS JHR)

(b) Hindu Muslim unity (B%-seemm «waet)

(©) Independence from British rule (&% =toFm ~f1 5f%)

(d) Safeguarding Muslim’s right (T4 & T 37
Who wrote an application to moffat mills against fixing of land
revenue at an ircreased rate on Assamese farmers?
wﬁmwﬂm@’ﬁwq@ﬁ&fmﬁﬁ%ﬁmm
e wife forfifes o

(a) Maniram Dewan (3f34Qry (73m)

(b) Piyali Baruah (f*iafs7 3==)

(c) Mahatma Gandhi (72N S8

(d) Anandaram Dhekial Phukan (St ofeae )

The main cause behind Patharught peasant revolt was

IR0 oo Raiza s i s

(a) Increased revenue (e Jfa)

(b) Ban on cultivation of Poppy (31 =ifew Reagren)

(c) Confiscation of Peasant’s properties (FIF4 FHf& ACTFIBFI)
(d) Attack on the Peasants (FTIHTER eolgs B )
Assamese journal ‘Jonaki’ was published under the aegis of
which association?
uﬁmw&aﬁ‘m@’m@mﬁmmmmﬂﬁ%f
(a) Assam Association (SRS 92 TorTem)

P.T.O.
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32.

33.

35.

36.

-8
(b) Ahom Sabha (SITZH 7<)
(c) Assam Chatra Sanmilan (7% e AfEW)
(d) Asomiya Bhasa Unnati Sadhini Sabha
(S ot Tafs faRt 7o)
Kanaklata Baruah was martyred during which one of the following
movement?
ST A WG WITHIEE TS Il I8t wEw (=fEE e
(a) Non-cooperation (SPTLaM) (b) Quit India (SIS Tyist)
(c) Civil disobedience (FR=¥ =7%1) (d) Swadeshi (FTFI)
The folk dance of Mizo’s is kown as
frereer @Rger & gfer & I
(a) Pharkanti (F1931®) (b) Bagurumba (I03%0)
(c) Bhortal (cetg@isi)  (d) Cheraw ((5908)
Which one of the following is a natural factor that contribute
towards polluting the atmosphere
Y YRoTIN] Apfo St @Ol TA
(a) Flood (IR (b) Tsunami (3F1)
(¢) Industrial smoke (Trwilfsi<e (M)
(d) Volcanic erruption (STHT Hwi%i<e)

. Which continent has the maximum countries in the world?

@ Tt i sdifes ot wntr?

(a) Asia («af=at) (b) North America (¥€3 It <3)
(c) Africa (SfZF=T) (d) South America (W{#F SCf{<)
The railway transport system of Assam comes under the railway
zone known as

TR (JF 2AfATH AR AETS 4 ({1 AWGTHE Sl Y
(a) East central railway (°R-3rg (¥7)

(b) North east railway (T@3-°R_ @)

(c) North east frontier railway (@Eﬁ—‘{[ﬂ RIS <=)

(d) North western forntier railway (Ye=-=*ox JiE ==1)

Which variety of rice is more popular among the farmers living
in the flood affected regions? Com‘d“

https://www.assamboard.com



37.

38.

39.

—-9_
FAAIEE THTT FIFIEA VTS FANA -1 AT 2
(a) Summer (ICH1) (b) Autum (12)
(c) Winter (=nfer) (d) Aijong (SI%=R)
Land, Gold, Silver are also assets like money but their liquidity
is less than that of money because
B, G, T WF g 7@ AT TEe SRened JUIels
T IR
(a) These are very precious (334 WS EHI)
(b) These are not perishable (9311 J8 72 #1TM)
(c) These can not be instantly converted into goods and services
(GRAR SRFTSIE o N WS G FAGHES IR« J)

(d) These can not be instantly sold out

(GRN SIS [Fh HEI A Fraw)

In today monetary and banking system, without physical transfer
of money and through adjustments in bank accounts transactions
are settled. This facility is called

TEAR T WE [RE IS W 9FC TR FHIERRIT AF
Q[ B e @e-Rae 2 @@ srifre ) @2
FRAGET & -

(a) Physical banking (23S (A <o)

(b) Internal banking (& (@RF1T=9)

(c) External banking (3@ @)

(d) Core banking (SIef<s [BITAT)

The words socialist, secular and unity were included in the

preamble through the amendment of

TSN, YN W AT (20! (PWLET LN AR
UTRATS LA A (=

(a) 40* (40 ©%) (b) 41 (41 =)

(c) 42™ (42 %) (d) 439 (43 &%)

Which one of the following federal characteristics of the Indian
political system is true?

https://www.assamboard.com

41.

42.

- 10 -

@ ST ?

(a) It is inspired from the constitution of the USA
(92 [IFG! IHRIR AR [ AeiRe)
(b) The central government in India is more powerful

(SRS AT 3Pl wfEs =fE1=th)
(c) Provision for dual citizenship has been granted
(CasRTRR IRF IR T (ZTR)

(d) Constitutent states have the provision for separate constitution
(TStIETE Aoy ARes | 7Y 11 3w)

Consider the following statements about International Court of

Justice (ICJ) and choose the correct option

BT IS e [Re@ oae A Bfemr Reew 3R ox

a0t AifR Tfernea ¢
(1) The function of the ICJ is to settle the cases filed by the

affected member states of the UNO
(TNTTSS PR FIN TRCR ST IBAYPR TR o
sz FeefE 3sa)
(1) The disputed states are not bound to accept the verdict
passed by the ICJ https://www.assamboard.com
(4% wwlercs ol T REvam @R wfRdta qg wzm)
(a) (i) is true and (ii) is false (i @ % ii Sow)
(b) (i) is false and (ii) is true (i 0T FE i %)
(c) Both (i) and (ii) are true (i <% ii FEAG! @)
(d) Both (i) and (ii) are false (i =% ii GG &%)
Assertion (A) : India is a sovereign country
Reason (R) : India is not subordinate to any foreign power.
TS (A) $ SINSIF G4 ARSI Y
1R (R) ¢ SRS (it Repd =ifey @@ 7=z
() A is true but R is false (A @5 g R wag)
(b) A is false but R is true (A o 3 R o)
(© BoﬂlAandRa:etmeandRisﬂlecorrectexplainaﬁonofA
Contd..
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45.

—11 -
(A TI=F R TCAG! w5 9% R 51 AT A3 R[ews)
(d) Both A and R are true and R is not the correct explaination of A.
(A W% R TUAGt w5 wiE R, A I s5ifde [oawd =gw)
Match the internation organisations with their respective head
quarters

QBT TPz wafye Y sRi=mT @7rs KN

=

-12 -
THIER BerfE @@l wmeehEa s ERl e ST ow
Fewnt 2k Sfaea
A Nile (&) i. Asia («fz@n)
B Thames ((¥55) ii. Africa (SfE=e)
C Huang-ho ((RRITRY)  iii. North America (T&1 ST=H)
D Mississippi (f&f&f*) iv. Europe (Frai#)
(a) A-iii B-i C- D-iv
(b) A-ii B-ii C-i Duv

A FIFA i. Kathmandu (315%1¢)
B ICC ii. Brusels (I5e1%)

C NATO iii. Dubai (J2)

D SAARC iv. Zurich (gf3¥)

(@ A-i B-iv C-i D1

(b) A-iv BHiii C-i D-11
(c) A-iv B-iii Cua DA

(d) A-i B-i Cii DAv
. Match the name of the founders with their respective associations

and choose the correct answer from the options that follows
ASBIHRTTITTY AR SIS SGIPRT ER wie wes [l
RasrTzs o[l o9 SEk! 3k Sieey

A Anadaram Dhekial Phukan
B Padmanath Gohain Baruah
C Manik Ch, Baruah

D Jagganath Baruah

A IHAN (ofEEE o

B R ¢freiR gz

C =ifs v <=l

D womY I

(a) A-ii B-iv Cii D+
(b) A-ii B-iv C-i D+
(c) A-iv B-ii Ciii D
(d) A-iv B-iii Cii D-

1. Assam Association

1. Gyan Pradayni Sabha
i1i. Jorhat Sarbajanik Sabha
iv. Ahom Sabha

1. SR %o

ii. @i WA=t e

iii. (TG A 7o

iv. SRV ol

Match the rivers with their continent of origin and choose the

correct answer from the options that follows

PT.O.
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(c) A-ii B-iv C-i D
(d) AHi B-iv Cii D4

SECTION - B
(46 10 54 question carries 2 mark each) (8¢ 21 ¢8 =1 &SB! =W FIF )

46. Imagine, you are the manager of a commercial bank. What step
would you take to increase profit of your bank.
e 91, Offf AAfETF @D 9FR ISR | (SR [T S
TR AR B Avrw A
47. In what sense, economic growth is different from economic
development? _
T wiefe weftafos Rm, Qo Tagweld T2
7 "What is the importance of the need for consetvation of resources?
Aol HAPHFR ARCAOR Y (&2
49. Suggest any two measures to control dissertification.
TRl FREEIR IR R 461~ ssRepiat |
50. “The introduction of english education had dual impact on Indian
society”. State the impacts in your own words.
‘BRI A IR ST ez SRS sTiers 1% @t
HSR (TR Ot TR~ SR 4hi o SrErs Tme 3541 |
51. Mention two main characteristics of Indian culture,
S AFEA 1B Reey w2 gy Ty 341

https://www.assamboard.com
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- sgsam has a mixed culture due to assimilation of Aryan and
" on Aryan cultures”— Justify the statement with any two relevant

32
poINts.
NS S-S IS weMieE @ e e Teoifa
e — R 901 il ©ite 3@ ANl ove 341 |
53, Provide example of England’s parliamentary democracy to
support the claim that Indian parliamentary democracy makes
India a republic.
SROE T SIT0F G =M (RS WK ANLAS RCTST
ALTTI STSFS THIZI &w| 3 |
54. Read the following statistics showing the increase in revenue in
Assam before the revolt of 1857 and answer the questions that
follows:
1857 3 [Rrurzs ~ <rTe Iox I AR SaEs [ oo™
AR e ol |

District 1832-33 1842-43 1852-53

&=

Kamrup 1,10,181 2,52,991 2,95,996 (1)
RabSie

Darrang 41,506 1,35,454 1,87,795

R

Nowgaon 31,509 1,10,318 1,28,873
RRNE D

(i Which district was subject to the highest tax burden in 1852-53
(Pl fEreIy @[T 1852-53 be HiiiEs 337 Qe #{f¥fEs |

@@ How much revenue was collected in Nowgaon district during
1842-43

1842-43 5% =sfie fEretla =@ o Ires stz w11 5|

P.T.O.
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SECTION - C
(55 to 59 question carries 3 mark each) (¢ *l &> 71 =fITH! 2 JYIT o)
(60 to 61 question carrics 4 mark each) (Yo Al ©3 751 2AfTHI MR EYICS ©)

55. Explain the challenges faced by ministry of Gopinath Bordoloi
immediately after the independence.
TSR A A ARG I TFPTOR AYLS (A

I P F1 |
_ Briefly discuss the physical characteristics of Asia.

<feat TRTeIR AgfeT CaRBPTE BN WISl 39 |

57. Reganding the courage of Bengal women, the ‘Daily Telepraph’,
London Worte, “The Bengal women are the most obstinate and
most dangerous antagonist of the English”. Explain the reason
for publication of this news.
R AR AZPRFOR I AT (O2A1 GRANTE IRFTS
G AT ARfRET— G AR NI I AFENSLD
W R Remome — 92 ARG 43 (IRE IR =
1

58. “Maniram Dewan was an efficient administrator, but not a good
leader”— Examine the validity of the statement.
‘e A g TE 2P wifes [y geq o @l 71
+11 Aifee 1 TSR Aot [ReR 341 |

Or/Sy

ustrate the importance of Phulaguri Dhawa in history.
fozrTe FealR Wk vy Tp 401

59. “United Nation has been successful in preventing a third world
war” justify the statement by giving example of any three bold
steps taken by the UNO for world peace.
“AFAR PN R Wi RS e sfiata spww vz
— IFRRE R A @Rt R amgepef siromer Twrad
7 fRgfeor st awe 3

60. Analyze the causes and effects of the Quit India movement.
SRS G WAL FIR % LSRR Resrge w4 |

Contd..
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Or /11
Explain. How did the formation of the Indian National Army
during world war-11 impact the struggle for Indian Independence?
R Ry re crdlT wdly oWl AR MW SR
TS MANE @ HOR (TR, JHR fora | .
Inspite of having more prospects. the ongoing industrialization
process in Assam is slow” Substantiate this statement in 80
words
wigF AERE IR freret, wewe BriNITIR afEFE
FETW ' — R IR SISl 80 B = Awifte I
Or/ <]
“The entire twreansport system of Assam is not properly and
uniformly developed”- Propose any four measures to the
Government to tackle the issue.
TR'— REMG TR IR seRE R s 0 3/
AIR WG |

SECTION -D
Map-skill based Question (4)
(62 question carries 4 marks) (Y 2R FEURE 8)

(a) Two places A and B have been marked on the given map of

Assam. Identify them and write their correct names.

TR A8 THHIE A W% B 51 I Bz =41 tars )| Bare

FR ow AWER o
() Indian National Congress session at this place in

1926.

1
1926 5% MR YS SRS TSI TR WA=
SRS |
(@) The first medical college of North-East India was
established at this place. I
P.T.O.
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Taa-siwey 29w Bive wRRmerdn @ Zwe SIS
A

Arunachal prades:h/_/?

Linguistic region
S e
- Assamese WHATM

-. Bengali 1T

(b) Study the map thorougnly and mention
TP Slemis WgEd N TrE 39 2
(1) The language dominatly spoken in Cachar district
TR ferR gum ws SEic

(11) The name of the state which shares its bounda.ry
with Goalpara district.

IR e ﬁlﬂ@élﬂ.t EIES i |

e sieofeok ok
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